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Note: The Question paper is divided into three section A, B and C. Attempt Questions of each
section according to given instructions.
e : T AEE F, @ IR T A @Uel § fareriord & Sk o FHEear St o 3w <)
Section-A
"us-<h
(Long Answers Question) ('qﬁ"ai‘ Wﬂ'ﬁﬂm)

Note : Answer any two questions. Each Question carries 15 marks. 2x15=30

e : foreel 2 Toat o1 Seak ifRTU) TedreR w9 15 3t oAt B

1. Define political science and discuss its scope.
TSI TR =i afters €iferg o7 gt & Toee ifs)

2. What is political modernization? Explain it.
TSt foeh STy fehisRter T & 2 e hifs|

3. What is meant by Justice? Clarify the evolution of the concept of Justice.
AT 3T AT SR & 2 AT GraIwel] STTETON o T a1 wuee ifsru)

4. Write an essay on theory of class struggle propounded by Karl Marx?
et AT g SfuTiad it e o g W w e fafee 2

Section-B/@Us &
(Short Answer’s Question) (€79 m'ﬁ'crm)

Note: Answer any 04 Question. Each question carries S marks. 4x5=20

e : foRvdl TR 9T T Sea INTT| Teieh W9 05 31ehT ot &

1. Discuss the traditional view point of Political Science.
TSHIT T T TOFITA gISehior aHeeal
2. What do you understand by Political Parties? Discuss its features.

TeIHITdes gl | AT T Tueld B 2 $eh! famarsnt st fere=mr shifsmg



3. “Post behaviouralism is the expansion of Behaviouralism”. Explain it.
‘IedLITEATE, STTBATE o1 fored X 27| 3Heh! sqTET ShifSy

4. State the importance of public opinion in modern Democracy.

AT TSI § A o1 Hecd SdTsd|
5. What is meant by constitutionalism? Discuss the characteristics
constitutionalism.

HfaeraTe o1 379 Tuee TS Hiorars shi fererarstl &1 aviq shifs)

6. What do you mean by Political Development? Discuss
TSt foreh forehTer & ST T T 22 THeEd|

7. Describe main features of the Parliamentary form of Government.
HETCH AT 2hl e fereToaratl sh1 i =hifey|

8. What is the meaning of Globalizaton?
¥ HUSTHISRT § AT ST 82

Section-C/QUS T
Objective Question (Compulsory)/ITI(E3 T9 (AAATH)

Note : Answer all questions. Each question carries 01 mark. 10x1=10

e ; Tt TIAT T IeaT AT Tk T 0137k T 2
Note : Choose the right alternative —

e : Tt forerew Bifeu -

1. Which one of the following is the characteristic of traditional approach of
Political Science?

(A) Scientific (B) Value based

(C) Practicability (D) None of these
QU TSR st fe & & st ©ff ueh e 22

(COERURET (&) T

(§) AT (3) ST H § 1 T/l

2. Which one is the famous book of Marx?

(A) Das Capital (B) Republic

(C) On Liberty (D) Wealth of Nation
T T T8 T i 8 ?

(37) 39 Hiued (&) frafscrer

of



(@) 3T forerdt

. The form of modern Democracy is

(A) Democracy by the people

GEREIENE

(B) Socialist Democracy

(C) Direct Democracy (D) Representative Democracy
ST ST 1 &9 &
(37) ST o T8 o &9 () THTSIETET ST & &9 o
(W) TeAeT IS o &9 § (@) Sfaffer eI & &0 &
. The term Justice has been drawn from the Latin term?
(A) Just (B) Jus
(C) Joint (D) Judge
Sfeeq g AT s o fore wreq & foerm T # 2
(37) sT& () S8
(¥) saEE (%) Sfst
. The part of the government which can give the expression to public opinion?
(A) Legislative (B) Executive
(C) Judiciary (D) None of the above
T T ST ST ATHAA b ANATE § ThelT B
(37) ST C)EIRRIRED
CIRIREINE (T) SUHT | § IS T
. The membership of Pressure group is?
(A) Voluntary (B) Compulsory
(C) Enforced (D) None of the above
TETd T 6l HEEAT @ 2
(31) U (T) et
(@) oy Tt (3) SUUS | T RIS &l
. Who defined, Political Science is the Science of power ?
(A) Catlin (B) Laswell
(C) Laski (D) Garner
forer e, Terifafasm wife w1 fogm @
(37) hefed CIIEER]
(§) ATht () T

. According to behavioral approach, political science is a ?



(A) Pure science (B) Half science

(C) Zoology (D) Art
HFERETE EHIOT & STTAR Terif forgm &
(31 o fomm () ST forg
@) sfa fogm= (T) el
9. Which of the following is an agent of Political Modernization?
(A) Elite and intellectuals (B) Ideology
(C) Government (D) All of the above
Tt o & o TSk ST fehTeRtoT T T SATeRT @
(37) A Te el (@) feramem
() TR (%) Sured gl
10.Which country is called ‘House of the Liberalism’?
(A) India (B) China
(C) US.A. (D) Britain
I T I IIRATE 1 B HEAT &
(37) I (@) ==

(@) ST @) forem






